71l Resvelva -
(1) C-3xH £ 3IK-Y

@ 3-91¢5-3

Sk Veamss g):

X OREL & 3x-~1 [ 3% +Y
O X -6X s ¢

& (X-s)(x1)Lo 0"4. ciemte
12'5' iWw

Si=t153, (k-

Ahora (V) -
25-- X . .
‘14\1 3 [ 3 +4

ot el o xp et/
(o
£ % LT ~ 5. = |- 'LZJ

L"Qﬂ o: olezl'z Wf"'

5."» 59N 31 Ei 5]



Pl Ub() = (L20-%) (x-)

bus camos (U 4.6oo

uL,’
22 (120 -%) (x-20) H1. 600

&> —%"+1490% - 2400 Y 1.600

(= —X +L40% —4000 > o

=) — (" =14ox +100)) 20

> —(%-Loo)(x-4d) >0 (- (<o)
& (X-Lod)(x-40) <o

X € J40,100( "! )
EL grodvcty se debe |4 Loo

ender emtre §4p. 00
) $1.00.000




P I’x"'-— (3x-#) I B

321 mre ge K (3x-3)

= X=3X+%=X=22%+r%
(2 V) @ e

= (%3 ) _‘L+?_ (x-ﬁ ’LL"I
) Wmos g ve (X’,,)z"}-.,l>o

e bowe [boAe ) = (e
(a imecCoaciom 4%

o3 <8 -y

o (x3) 4 ] /Fﬁmtww

30m 9 o
t”’\ﬁ-‘— 4’._;- "7

&> x-2 | ¢ B ~xe[3- "ﬁ]

2|l =2 Lz/?—z



Ua\)qx:sg‘bx 6/30

= S(4x-3) . 6(p%-¢) /_ 6(3x-6)
X = X X
e (20%-15) - (41X -3¢) £ o
Y
(= -Z%X +24 <o /

7

- 0

=3
Y

A
q oo

"*'T-T H

Xé]-CD,OCU E}f,/mc

5( 20 Pc: X
3/ K




X € J®mo[ UJi/ZE//



